1. Question: " (T T35, Jf& CTATE IS, & O I |- 4 TS @F Hfaw= 4
TRATH (T AF©?

A) F35T®
B) (TT=Rrat
C) STIFT
D)

Answer: A) ¥85The

Explanation: (& & M@ y=a Fra afas17 Sfafe Sfe mar nse | - Far sf@wii s539
ST S T | - I I TS e e 207 | S35 : IRAT ST 8 H1fRey s, ©. (e
CTF

2. Question: “FIFTA’ 3 “AFu’ T4 Gfor® SF’ TAAAH T=F (FT 7S/ 6572

A) = qfote Sassfe GGG 932 I T9ze @@

B) 1 9ftre SwsiG 932 oI TaTe @@

C) 76 1 TASIoa o1 AoMe-fAeTA f&w 2T AN 4%
D) 9fG 1= Seisfioa o 43 736

Answer: C) 9ft 1@ Sesifoa o arire-fT61E fod 2618 A aF

Explanation: ‘313" TSt ‘SRR 1@ Rieaol o a3 G195y o Fj97e TR
TS5 ST T, T. RRATS IRW, YO e R9%

3. Question: (FTF FSTRI® (T AET & IRAH ATSETAL foeei ?

A) (TS
B) TSI
C) Tt
D) GIT

Answer: D) G191
Explanation: Sbbo ST FREATY (VR XN SfSfd© 2F| - (TR & (5T IR 2] 3 [T =TTl

IS BTEfE ffSe ST FOEHTA T PEAREA| - TTFN SEAFTT FID6 TS 7T -
CTTNEST, fA=39d, SI8F 2evivl

4. Question: ‘Intellectual’ &g ] Y-



A) Ffane
B) T
C) Fef AT

D) F(&SI]
Answer: A) {f’?ﬁﬂ?{

Explanation: Intellectual (Noun) English Meaning: Relating to the intellect Bangla Meaning:

Trife T, (@fas; J@fes; Gy FNT; Jasiat

5. Question: 37 57t 71%-
A) SR

B) fas

C) Szt

D) 4=

Answer: B) Hfis

Explanation: $FFf6 SF9f 93 FNT I - ‘7L 28IF o[ I = T9F, - 71 o737 a7 = 797

6. Question: "Ifb @ @ A5G (FF K TFITW?

A) (feqT6H
B) fA@st®
C) IS
D) F2(F

Answer: A) (@fed63

Explanation: "SIf6e &g ‘@ S5 F.2%4F/ 71/ Tro1q oy 56 @R | SS: ST 551, T. TS
T3, SO ke 399

7. Question: TeITSToOIE 8% (FF6?

A) TyFHar

B) &3

C) 3338

D) 83F8el b Mo FA1 TA®



Answer: C) 8338

Explanation: 96 ifed Fa71 2@®

8. Question: "sIf¥F @ 7Y TARI®" — FAM F1F?

A) RGN 5154

B) *TA354 SETTETT
C) M CIrTEas @
D) 364 SEIEEAE

Answer: A) FIGaY éﬂﬁ

Explanation: - Fe53e] IfFN60 SEIAETE Af6w 9576 @RI ST | - FIAHT FATHS
TITF FIPANE (F ST FE FEA, “51P, 9 ¥ ARI=?" af6 ARAT NfRSTH 22+ (@HF
KA

9. Question: ‘T85N®’ ATFF T WF (F fRE@A?

A) FTE TS IR
B) S FTTR AT

C) AT RIPHW Fore]fwel
D) (2w AN ey

Answer: C) e AT A5 e]{~el

Explanation: « IR AF6 IRAT MNF AAFT1 S0 SIEF JABFH NCT (AW NFIH AT
T FAFMe] (@ At TF¥ e 2F| « NNF F3se' AaFE T s GaeEnw g Sfue|

10. Question: & TZ6 CIFT 2@ TAT TF 0 @ =A?

A) TR 1T
B) i afat

C) Siferter

D) tersfer

Answer: A) (FHAMIY FIT

Explanation: - Bleaeg s o2 8 SH0T® M6s dterwster| - aft I stifRcey a3(6 [{avre a6 -
VB bo NI AGF6 TAT BIF] (I TFIFe 271 - A6 TIF] (I IFIFe TN a3 A6H 6 GIFT TN
NPT 27|



11. Question: “STF TAFF TS (F f2ETT?

A) (TTRFAY SFA AT
B) S%TSe (T

C) TfaFwle

D) i 1ermrs anq Sd

Answer: A) (TTRFAY SIFI AT

Explanation: 18 o1Ig %a =1f0e $»¢9 B 6191 (3@ JF1He MNS AfReT=a SHH1eT |

12. Question: SN 7 FIAT FYHA IR AW (F FEA?

A) (STETT (TTI%T
B) TS AT

C) YNSFNH SEITETH
D) ©R frahTea oTa

Answer: C) S[ATSFNH SEITET

Explanation: fSf& 67 (7 (5 9e-5250) : - fofe fiatear 431 8 SI@WF | - AR S FANS
TR TRF 3 157 I (SR S FEA| - ARIEHT STCAT I I S |

13. Question: g &1 3 bffe ST =T-

A) IHF T 3 SoATFHCT

B) =g F15Te fomery
C) @3 3 WO’ M(TF FIRAE
D) frar™ 8 NHa Ivg F7570 femer

Answer: C) O33N 3 Jo3HA *(ZF T[IRMI

Explanation: - 1§ ¥ {379 8 ST =W 9% fA0T¥ 5197 & O 66| - bfere o fm3rm 8
S =7 AFANG© § RGO FT © FE | - SJoR, 92 76 T feFoF ek WY 3 tffe S
IR ool Fa7 17|

14. Question: FIRAT IFNSH (@F|T T2 Af6Pw 27?

A) SOt



B) v»w¢
C) 5@
D) s»¢a

Answer: B) b»9¢

Explanation: - IR AFGH IRAT S TRFTE LS STEF ARGV | - S0 bR IFEF S T (1
SR $5¢¢) BIFF TN 26w A6 afsfde 231 - vvay TEF S FoT=F 2w 997 25
(5203-5>%3) AFNGNT 2 AACINEFT WAF T2 FEA| -

15. Question: ‘ST N T5f THF, TR SR - 3 TfHT6 F17 T6a7?

A) FRTAN 515
B) IS TS I

C) *TS[F 1R
D) CTH H&ve]e i

Answer: A) Fua 5154

Explanation: ITET JHIF ST @ THEGA ST "IT" Fa] IR SAE T TS|
R RITNPTegT foorT 9 ATIFIT T T | RA-JHTHAN THG AT CTH BT P ToeAT FEA

16. Question: FIRATCTT o 1F e (F1 FIIH TYTONT A®=?

A) TRT TRFFeT FT
B) TR A FT
C) IRTH 2feaIId F
D) IR TFfex T

Answer: A) IRIT ARFNoF 3T

Explanation: - FIGA1N 51FF FOF S0 b NI Afbw FIe] SN (NAF IRATF TV 77 57
IRACCTH STOIT oS | - 3 8 AR AIFIT DI IS 27| - FfFo1ore (16 2¢fB TR 3"

17. Question: ‘@ZA sfFaf6 @ SATTT =NSIT II?

A) ofIazla

B) RuR
C) I
D) $3IF@F T3



Answer: C) N3P

Explanation: (AR 5fXafG fF60 SEMNATA A "FHFN@T O3 TFA bfa

18. Question: ‘90T (FFIA AFF TS (F T ?

A) AT ITFO
B) (IS S{fZ3 1A

C) A (B
D) TN AT T2

Answer: B) (I5T {31 T

Explanation: - ST ST o T3 23Tl 5% “9F0T (HPIME | - afF s> o ST FF1re 271 -
ST oG - R R0 AR | - ARACTR TEAOT (& Gleersfa - a7 T=usg fofer| T
IR ST 8 fzey fFer-G. o Cras|

19. Question: (F1F SFHNNGT ToHOT FIHA?
A) s

B) srermidel
C) SEF
D) =@ IRE&

Answer: A) RT3

Explanation: - 'Si@ IRE (52 ¢) FIEARE 5 SRT (a7 735 &aM | - &A% S1aes
TNAGF (THG MO | - 9T SEAEST 5fFa- AT, ey 8 Sl TN IRAT ST 8 MRy
f&R™-T. CTfE 7|

20. Question: FfT FIE FSHT I ‘NFOT FIIHE FIE S5l FEMETA?

A) IRTFNE @

B) oSS IATHT
C) SEsrFwat (wat
D) FIwAIN A

Answer: A) IRHFNE (FF

Explanation: FT& TG 3T FI0T TFa- NFer | At 166 FEeT 8 s RF o 1@®|
RPN (I TIGATN STFHAE PTG ASPT TN TS5l FCEw |



21. Question: The word ‘imbibe’ means :

A) to learn
B) To tinge
C) To acquire
D) To drink

Answer: D) To drink

Explanation: Imbibe (Verb) English Meaning: To drink'. Bangla Meaning: *1el/233 $4T; 8
(T8, ATHATS FHT Synonyms: consume, sup, sip, quaff, swallow, down, guzzle, gulp, gulp down,
swill, lap, slurp Source: Oxford Dictionary, Bangla Academy Dictionary

22. Question: The word ‘homogeneous’ means:

A) Of the same density

B) Of the same place

C) Of the same race

D) Of the same kind

Answer: D) Of the same kind

Explanation: Homogenous (Adjective) English Meaning: of the same kind; alike. Bangla

Meaning: SIFMeF SRR @ 5Ifd®; STTSIT; Fafo; See; S|

23. Question: The synonym of ‘genesis’ is-

A) introduction

B) preface

C) foreword

D) beginning

Answer: D) beginning

Explanation: Genesis (Noun) English Meaning: the origin or mode of formation of something.

Bangla Meaning: 5754, ?IT.ZT@?FT%WLSynonym: origin, source, root, beginning, commencemen

24. Question: The word ‘ecological’ is related to-



A) Atmosphere

B) Pollution

C) Demography
D) Environment

Answer: D) Environment

Explanation: Ecological 1% IRENIARF1S; &A@ 739 RF@| Demography a1 Sas:21Teq|
Pollution 31% 73<(1 Atmosphere 1% YT | Environment S s |

25. Question: Which of the following sentence is correct?

A) One of my friends are a lawyer
B) One of my friends are lawyers
C) One of my friend is a lawyer
D) One of my friends is a lawyer

Answer: D) One of my friends is a lawyer

Explanation: One of 4T @ noun plural X 8 verb singular TX| B2 Sf3F IFHT TE- One of my
friends is a lawyer.

26. Question: The correct passive of "Sheila was writing a letter" is -

A) A letter was written by Sheila

B) A letter was being writing by Sheila
C) A letter was been written by sheila

D) A letter was being written by Sheila

Answer: A) A letter was written by Sheila

Explanation: Present continuous Tense 95 Active voice (& Passive voice FJ1d faTs: Object
65 subjective form + am being/ is being/ are being + 3 verb a9 past participle + by + subject
a9 objective form

27. Question: Which of the following sentences is correct?

A) That shirt which he bought is blue in colour

B) The shirt that which he bought is blue in colour
C) Which shirt he bought is blue in colour

D) The shirt which he bought is blue in colour



Answer: D) The shirt which he bought is blue in colour

Explanation: - Antecedent SEJ16% (T Relative Pronoun ROIE S1EEe® which I0TI

28. Question: Which of the following sentences is correct?

A) Why you have done this?

B) Why did you have done this?
C) Why you had done this?

D) Why have you done this?

Answer: D) Why have you done this?

Explanation: Interrogative sentence basic structure: Why + auxiliary verb + subject + principal
verb + object or others + question mark

29. Question: Which of the following sentence is a correct proverb?

A) Fools rush in where the angels fear to tread

B) Fools rush in were an angels fears to tread

C) A fool rushes in where an angels fear to tread

D) Fools rush in where angels fear to tread

Answer: D) Fools rush in where angels fear to tread

Explanation: Famous quotation by Alexander Pope: - A little learning is a dangerous thing. -To
err is human, forgive is divine. - Fools rush in where Angels fear to tread. Fools rush in where
angels fear to tread

30. Question: Which of the following sentences is correct?

A) | forbade him from going

B) | forbade him not to go

C) | forbade him going

D) | forbade him to go

Answer: D) | forbade him to go

Explanation: Forbid a9 "I from 933 to ‘1‘@131'5‘ I AE | ©F AEF (F@ (W] (51, (F(® [T@7Y F97
o1 forbid to go FTT2® XA | ©R ANAT Nf3F TGH to HTF ffSx| e TRH SA=ATAT SAATH



@G (AF ToF FIET|

31. Question: In which century was the Victorian period?

A) 17th century
B) 18th century
C) 20th century
D) 19th century

Answer: D) 19th century
Explanation: - The Romantic Period of English Literature is 1798 to 1832. It belongs to the First

half of the 19th century. - The Victorian Period of English literature is 1832-1901. It belongs to
19th century.

32. Question: A person who writes about his own life writes-

A) A chronicle

B) A biography

C) A diary

D) An autobiography

Answer: D) An autobiography

Explanation: - A person who writes about one's life - Biography (Sta41). - A person who writes
about his own life - Autobiography (SIS

33. Question: Shakespeare is known mostly for his-

A) Poetry

B) Novels

C) Autobiography

D) plays

Answer: D) plays

Explanation: William Shakespeare was an English dramatist and poet of the sixteenth century.

He is known mostly for his plays

34. Question: A pilgrim is a person who undertakes a journey to a-



A) A new country
B) A mosque

C) A bazar

D) Holy place

Answer: D) Holy place

Explanation: Pilgrim (Noun) English Meaning: A person who journeys to a sacred place (Holy
place) for religious reasons. Bangla Meaning: Srfat Synonym: devotee, believer, traveller,
wayfare

35. Question: Something which is obnoxious means that it is-

A) Very dangerous

B) Very pleasant

C) Very ugly

D) Very unpleasant

Answer: D) Very unpleasant

Explanation: Obnoxious (Adjective) English Meaning: Extremely unpleasant.

36. Question: Something that is ‘fresh’ is something-

A) Recently printed of published
B) Pleasant

C) Disrespectful

D) In fairly good condition

Answer: B) Pleasant

Explanation: Fresh (Adjective) English Meaning: (of food) recently made or obtained; not
tinned, frozen, or otherwise preserved.

37. Question: A fantasy is-

A) A real life event

B) A funny film

C) A history
D) An imaginary story



Answer: D) An imaginary story

Explanation: Fantasy (noun) English Meaning: the faculty or activity of imagining impossible or
improbable things

38. Question: An ordinance is-

A) A book

B) An arms factory

C) A news paper journal
D) A law

Answer: D) A law

Explanation: Ordinance (Noun) English Meaning: an authoritative order. Bangla Meaning: fSt¥
THORE Fhe o, fozw, iy 8 2, AT Synonym: edict, decree, law, injunction, fiat,
command, order, rule

39. Question: Three score is -

A) Thirty times

B) Three hundred times

C) More than three

D) Three times twenty

Answer: D) Three times twenty

Explanation: Threescore (Adjective) English Meaning: being three times twenty: SIXTY Source:
Merriam-Webster Dictionary

40. Question: The antonym of ‘indifference’ is -
A) Ardour

B) Compassion

C) Anxiety

D) Concern

Answer: B) Compassion

Explanation: Indifference (Adjective): English Meaning: lack of interest, concern, or sympathy.



Bangla Meaning: 3ursias; Suriiaer; Siaier; fas=yzer; Rg=; @=1sn|

41. Question: FRACT AEIS TIFTEF AHIS TTAIT AT b1 I ANEF F© 997
SROTIH T AP

A) So
B) 5
C) ve
D) 53

Answer: B) 5%

Explanation: - >\ NI b AMSTH TPH ST61T e SIS T STLCTEAT 9PT 2| 93 RO
AERE IRACTT TFFT T AFIST AT 77| AT A6 NS TTFE T[T AT TeTwy
SEFTI T A ATGT FAT 7|

42. Question: FRAGCTT STelF TolFF [CHRNT (F?

A) S SEAT
B) zIf3ma F=ae

C) 20 A
D) FIHFT T

Answer: A) SiFeT SlciEe]

Explanation: IRMCTE TTSIT TOTHT fGORATT FIFT I | SR ST NPT ST IO I
T J08F ST AP A FEA|

43. Question: "SI FLT ST YT WIS A" — a7 MfoFR (F?

A) T AT AT
B) NR2 T. A (XA (TTIHT FTA
C) G. NfasE=Tele

D) =¥ &Pl RN J19

Answer: A) N2 IATO% HAR3[M

Explanation: “Si3 51 ST 4T 713 1 -SA{6A MopTa Asere 25 19|

44. Question: ABTR FIHIRSE WS FHNFIT FFNF FRGS (19%MNT) FFaE T Mfe



EF 9 572

A) STTETT
B) SH ®&06
C) foasfs

D) 2ofaaT

Answer: A) SIGENTAAT (Ammonia)
Explanation: - 3513 HIGARSI TG (FRFET (FPN fARNGS (WO STTes 26HIT NI FIFNET|

45. Question: IR ICETIT IV TET FIAT TAT AT RA?

A) BRESFT
B) il
C) STT&T
D ECBRE

Answer: C) 8541547 (Dutch)

Explanation: - SSEIARITE J&F TERGAR J3 IRAT AP FE| - TEE] ToFH BF (¥F2 OF]
N Tels RN e BF FE|

46. Question: IFLFIT (FAT-

A) IRAECTR SoF Je 3 Brams

B) IRATGCTE wiper o O3y forame

C) TR F(© A 7 IA(Fo
D) FRETIICTR ST o Framee

Answer: B) IR Wil S oy s

Explanation: IR 5% SIF S T FFo>IQ (I THF AIF0 | TG 190° TaF THEAT
FHoRIQ (@ A AR[CS | - afe IRTICCTE -1 977 T FHTe1s M AfowT FE®|

47. Question: IOAE a2 F MF T IRATEEF T Fo?

A) &%
B) WS
C) &3
D) =res



Answer: B) W (Tenth)

Explanation: - Sas:aTd 0@ @ IRATT AT 3 F205 (771 - TRATWT 8% JTS [T (W,
SHferT SRATSES (77 RN eI o F (W71 - STy Folgd 5 o f{0gd 937 928 (1 - do (F15d
S SATRATA (7 RN IR RS TIEE Faasihe o |

48. Question: IS FELAF G (FINT AIFe?

A) I

B) el
C) 3=y
D) oIt

Answer: D) G191

Explanation: $>%9 ST S 3T ST, BT CHE Sl AT (MOTH FN TSI FEOIANT
G0N SENa Fa7 27|

49. Question: TTNRWCTR NHCF oS (STAET (F RET?

A) TE 6T

B) ¢ T

C) & 8IS

D) 6 MET G

Answer: A) & GG

Explanation: Yv©e NIEE SIGT SMET (Fw AR N IRATT SO (SHAETNF SIAOF STOAF
(SR RO OA® FT 2T AT B IRTTF SIFA TOAT (SANET TG GfTAM (I03F SIS I
STONT (SN [y 2|

50. Question: FRA@EF 5T SE A3 o-

A) (T 8 QBT
B) 6551 8 SN

C) sf*se1am 3 Pz
D) =*63357, (T 3 A

Answer: B) SI*63q57 8 SIS



Explanation: - IR0 SE ©IF@F 6335, (T 3 SIHT; - & S, a1, 8 fHenamy a3z
AT, - 5 FETTHISTT 973 - A6E SO A63NT5 5o | TN FIF T (Afd IR 3
IBERIBIRIEEY

51. Question: JTAT~ T FAEIA (FIF (SAI?

A) TR SV
B) Hfawsd (&l
C) GIT (5T

D) I (Svelt

Answer: B) HfE7sE (&l

Explanation: SiTaa™ arT A58 (9, Frfam| fof s> NEF 9 GFIMT INE Senarze
FEA|

52. Question: BN TENIH FOIF THIT ST e TS 35 TAR, S8 T Food IRATCT
TIOd PEA?

A) 09 T
B) wa¢ e
C) vt 5
D) w9 & FAfG Ao Fa1 2A®

Answer: D) @b &

Explanation: 736 1o $a7 2@A®

53. Question: IR AIESH (&F (Tg-

A) fog1 o1

B) 2if&a ¢Tg
C) 73 1R
D) FAT T

Answer: C) F&%a (g
Explanation: - 3535 (a1 I2[AT (FOF AR (&) (g IRTAOCT o 8 wiger Al o a3k [{eea

>Ye G (g1 - Af6 S35 W fersflerTetiey ST AT S S8 FRa (g 973 Tl AT Fzo (g
x|



54. Question: FRAMCTT 052-30 N IMEDG AT IR AN F©?
A) L8 TEF ¢qe (FIH BIFT

B) @@ T/ ¢ba (&6 b1

C) 88 & @99 (1D BIFT

D) 8 T €9 (P16 B1FT 6 1o Fa1 2@®

Answer: B) @© 28T ¢u¢ (@16 51T

Explanation: 205»-30 SIRE MG AFTF 56T 8 A b8 TFF ¢ (F16 GIFT|

55. Question: 8 fSTEF, vo»© BN 12w FHSANEH JFo@ FITNT F@ TR T GIFTF GG

POIEN TP AR ST 2I?

A)s o
B)aft
C)y o
D)af6

Answer: B) a6

Explanation: - 38 fSTad, v»»© SR 12w JHSANGH Je@ FINT FE@ IR 515 GIF1F (NG
«fS O TFRT FAT 2| - IRATECT Ao 38 FSora =1fzw St 7w =1fers =23

56. Question: CIEIF (P Z I (F?

A) BT AT
B) "= s{s

C) fo] o™
D) 3T AT

Answer: A) 35 A1

Explanation: - eSS (FaT TS GIFTF AN JAHe | - Mo @ Sbab ST JIWIF S N7
SR fo1e T8 B FEN | MR 97 TS T T (T SGyo S <] A AT 97 IS F 3
aft fersfier S|

57. Question: GIF] (NITOT (F1 N 6o z@RaT?

A) SDo Y NI



B) S'w8o S
C) 525> ST
D) Sbb8 ST

Answer: C) 525> NI

Explanation: - Sy b8 b1 o131 Rrefafmfafs ((Nasten) sfde 33 932 Lo S aftw Brod
TR FRT F1 2| - $293 S BI8 FRAM 978 F (NTTOT FIRT 1 T 938 5> ST
A SR FOMET Tite Fa1 23|

58. Question: TRAWCT He 1T FNW “TAGE] FfoT TG FHT A FIT TIRA?

A) SDdo ST
B) S99 ST
C) 5% ST
D) o3 NI

Answer: B) S99 ST

Explanation: - 53 ST IR T8 IAF T7 ©SFNA NASTF & GNP STred T3] AfoeT
FE 9 (NS TTeEH FOHT IE TS ATFT PTG (S [ VAT SIS FA6 STIF |

59. Question: FHT IRTWNF FAF NFT JHANT TFf6 vt FE?

A) FFIME, S99

B) 38 TR, 5293
C) S fE0THR, bR
D) 8 aff, SR

Answer: B) 38 ST 1T, SR

Explanation: IR 6w (q078 H13S: - GO (51303 () © b FETEF 59y - 17 (781 () -
b FEOTTT 9 - T SR © b SR 3593 - (NMOES RSIAI : 38 I IR - CTESMT : &
HFANE SR - THAWY : 8 (FFIMF S>3 - TFATE : 8 afFT 3393 - Tl 1 0 A5G vv9¢1 (Faz Wlad
S AT, ARG 9T T NI SIINZG)

60. Question: JTHT IRTITCT Soo FIFTF (A6 FE@ T B FT 2J?

A) SU 16, 5293
B) v f&0Tag, a3

C) 8 ST, v290



D) 8 76, S»93

Answer: A) S 76, $593

Explanation: 8 T, 93 & IRAGCT I S BT 8 Soo FIF (@6 517 FAT 2|

61. Question: TR FAEE (Fo1 AP IAMI3 FEF A TRGIRIE (AT T (TR
FEA?

A) A T, 328
B) 5 T, v238

C) > TFTR, 5538
D) SX TR, v»»8 HfG IMeeT F1 T@®
Answer: D) S IR, 558

Explanation: 96 ifod Fa71 2@®

62. Question: STRAATE (TAINRAT TG & F(F (0T FH ST 7T FE?

A) 3 TR, 598
B) 33 I, v528
C) X9 IR, 258

D) 38 IR, v5»8 AfG e 71 3@®
Answer: A) X5 TR, 5538

Explanation: 736 Fifee $a7 2@®

63. Question: S»Y¢ NEF AT TFGTET [FATAT AAIMI T N7 Fo &eq?

A) s fo
B) v fG
C)so fB
D) s5f6

Answer: B) b &
Explanation: - 54 ST =S fav=raT Sffmma (NG STy S foe S 651 =i6fe o3t a9z ofp

SCERT - Sp o AEF b9 FEoTEa e SfesRT SETEe Afa3ma A/IRES/1991(X V) (FS5Erea
AETE fHr=aT AfETmE SR T T2 Off (A Sofbre THte Fa1 271 -



64. Question: Fpa fAIFTT 208y AT NETE (SIS (F7?

A) aw@fel fSreersTe
B) fferaTey asamest
C) 31 wfus
D) 17 (&

Answer: B) f&fe e axqmeT
Explanation: - Y05 SITTA R5 815 TIFIE SO0 21 - FHIT [T9F1 2085y 97 TS

(STTTATST T @F (RRTT) fF1 - 2033 TEF XS FEIF (@ vy GO FTOME IP© F 38N
%%1 oI g awa|

65. Question: S»»w WETH fETTAE Sfde FFF TATHCER AATCE (@ TAOP Tells
SRATEITAS el RO AAAFTT FE?

A) AR 5@

B) feraTEe (o fos nft

C) CIPTIET (SN 6% T1fl

D) W FNSfat Mt o= e 91 2@®
Answer: B) F A& (SoME 63 NG

Explanation: =56 Iifed Fa71 T@®

66. Question: a3 (CIFTI T AFTI® fSSRANTT T SiEd (TG TR eNE I
ST FE ST S AT ?

A) 5SS TETR, $228

B) S IR, 4328

C) S TR, $538

D) b IR, 58 =6 IS Fa1 T@®

Answer: A) b ng‘“lli, S8

Explanation: 736 Jifee $a7 2@®

67. Question: FITIT TEIMF H6 TIFIF I TN T2 FEA?



A) b IR, S8
B) v I, v2>8

C) 38 IR, v228
D) 9 IFR, b8 =G Fifee F11 T@®

Answer: B) v ng‘*lli, YO8

Explanation: 96 ifed Fa71 2@®

68. Question: Hubble Telescope 47 Ff6 KNI STy AGTGIRISTAE FRPCET (P FSTIN (FFT
I TART?

A) Apollo

B) Challenger
C) Pathfinder
D) Endeavour

Answer: B) Challenger

Explanation: f60783, S»>@ S Hubble Telescope 47 Ff6 SKTNHET Sy ATSTGIRISHE ARTICT
Endeavour AR (T3 FAT T@M®ET| TS: 19T SFITRE

69. Question: fBIfFST oW (FFN F© SIFFE (FHEF FYHANFT R Too3IST FEA?

A) b IR, $528

B) » IR, 5928

C) So IR, 5358

D) b5 IR, b»>8 TA6 IS a1 @™

Answer: B) '\’ajg"i]i, YO8

Explanation: 736 e $a7 2@®

70. Question: Asia pacific Economic co- operation (APEC) (Z191d J(®F [, b»29- 4 Sl'q’fé‘\a
T @ (FA T (0T TIFTH TS AIFS foterer 2

A) ST
B) fRsfersmaar
C) SICHferaT
D) I =6 F1fee F1 2@A®



Answer: D) S

Explanation: 96 Fifed Fa1 2@®

71. Question: S»»8 97 FIIXF [T FIF (TN JIRA FIIA T=A T3l FE?

A) TEIETR

B) SI=2eIW *NT A

C) A MW (T3

D) Segale (RFAGIR TG Ao Fa7 T A®

Answer: A) TSJAR

Explanation: =56 Jifed F971 2@®

72. Question: YFG SEFIF (FT1-» 9T TIT BB (31 FE@ FT6 TZ ARG IMA?

A) 5S¢ IR, S8
B) b4 TR, 558

C) 59 TFTR, S8
D) S TR, S»»8 FHb I FAT TA®

Answer: The correct answer is:

D) St TR, S8

Explanation: 736 1o $a7 2@A®

73. Question: 3ITHI FABIES F(EF YOG 27?

A) bpvv
B) v»8@
C) 289
D) s8¢

Answer: C) 5389

Explanation: 3I7T FAHIES: - S28¢ TS 8-5) (HFIN (Nfe@e 2SI fwiIg 336 we fa
T 92 AT Ao 3| TSI @ 7 af5 a3 SF2ef Sewea|



74. Question: NATO F@F afefdwe 23?2

A) >89 NI(FTF 8 ISTE

B) 52\ NTETF 8 (F

C) S>¢o NIFH 8 (HFIA
D) $28> ST 8 afe

Answer: A) $89 STIETT 8 TSI

Explanation: 7% IG5 B5 FsRET e (NATO) F8Hw A6 SHEF (36| - 58> W@ 8 Af3eT
SIf3® | - AVGT TManET (FARANHT I AIFS | - TOFNF 5T wofb (W1 T2 ATGT
STITRG |

75. Question: ABH[GF T BT (IMF) FE T© 9T FAFH BF IFE?

A) 8¢ ST @
B) $98Y N (@
C) v58% T (@
D) 589 T X(©

Answer: A) 98¢ NI X(©

Explanation: SNfeET RIS afea aRa7a% (IMF- International Monetary Fund)| - aft
AfSfFe T L8 SETH 29 RETITA| - 97 FHHN BF 2 589 W/ - 97 AT JSANGT ST
S| -

76. Question: FfEAFF (RSN (FTa W 3 wReT?

A) $8Y

B) v8%

C) 543

D) 5365

Answer: B) b38%

Explanation: - 92 T@SET 3T RETE DU TEF v© AL 1T (@I e 271

77. Question: Rotary International 3 Jo ¥ 2J?

A) SDow ST
B) 5253 ST



C) S0 ST
D) Sdo¢ A

Answer: B) 5353 NI (B) 1912 ST

Explanation: (@GIE 3HIENMNEE: (@B FGENTH [N, Faafe 8 CrriSiitg aF6 S|
Af TN 8 CPISITTE T NMEEF I8 7T 9T TSI N NAIFATT ST w0
FofFe| AEHF - SDot NEF Yo (FHINE|

78. Question: Straw vote I(® Ft JAH?

A) Manipulated elections

B) Poll based on random representation
C) “Yes-no’ vote

D) Unofficial poll of public opinion

Answer: D) Unofficial poll of public opinion

Explanation: Straw poll (Noun) English Meaning: an unofficial ballot conducted as a test of
opinion. Example Sentence: | took a straw poll among my immediate colleague Source: Oxford
Dictionary

79. Question: -3 F?

A) 9F NF@T AR T

B) a3 fACT¥ 4a@F GBI

C) ©f¥ 3@ (eI fATF AN 9F YA (FT
D) 9% a@d (I [N

Answer: C) Bf¥ Z(® ef fATF I 9F N[ (FHNT

Explanation: ISR Y& TAASE FET: - fF-¢R - 9%-5Y, - CBY, - fH-vwo FrsrafuE T
TR N ST R - 5y, - B35, - 3FF-v0o Fenvl

80. Question: U 3 INARETH NS 8Y IREH JHITIF ARIAF AN A FE S IR
RIS 932 BTAREF FHANS! 2721F A PRERNF (NI I FE?

A) 38 TR, 558
B) ¢ IFTR, $38
C) X9 (TR, 438
D) 3 TR, 5358



Answer: B) ¢ 6]{“1]3, S8

Explanation: 1% G331 SFafes o foel| B2 97 IO SRAFBTOT (72| ©J3 SSAGT M NS
MR | 3T TSH - 0 IR, S8

81. Question: ARSI >0% ATQOT N(-

A) FR=eT TERAT 0%

B) Soo BIST IMGTE »o SIS T It

C) FrSTCT ST I TN FRAET TIEF 0%
D) ATSTCT S A AT T & AT 0%

Answer: B) Soo SI5T ATGICT »o BT SA1F I

Explanation: SRZ3IH IACIFF SAe] »0% N IMSTE Sel1F I IR T[F J3 0% |
T AR S Sm, GFI-RT I |

82. Question: fSf&oIT (GRIEET T8 @S-

A) T N AR

B) (FTe1¥ G131 S1ATeT FaT

C) BT HRINET HI2F

D) fEISBRT st IrdT (o Fer

Answer: D) fSf&GE fSsIaTE 16T (e

Explanation: - fof&6T Tafeore ofos e fOfEer mam F8s & |

83. Question: IN[F IJuT TII NTY A S FFEF TIO FARTE I& FIIeT (X[

A) FIEEE

B) S%0T6 T&fe
C) SO FT
D) (T feramamat

Answer: D) %1 ffTs®! (Photolithography)
Explanation: - Lithography/Lithographic and offset printing, or litho printing for short, is where

the image of the content you want to produce is placed on a plate which is then covered in ink
and used for printing



84. Question: T FIF I8y z-

A) ToT IAEF TSI NF

B) W2 FeT FIAIT QT AT
C) MRS ANFTT TSI IT

D) f&an 8 73

Answer: B) 72 $¥o] FIAF QIH AN

Explanation: % FI SAGE fTF@a FI| I7 MNHF TS (I T8I 7| Ao 33 f5o7 8 747,
TR YT FH O BT FE| TSz FHIN 3T 77, AFTT-710T Cfer |

85. Question: TfaF ST TS IO AT @3-

A) TGFT T
B) =5 E

C) (5t

D) GeffZey

Answer: A) 53] W%
Explanation: - Whales and dolphins are mammals and breathe air into their lungs, just like we

do. - They cannot breathe underwater like fish can as they do not have gills. They breathe
through nostrils, called a blowhole, located right on top of their heads

86. Question: I (Gife o 3@ Ffosa @ I (IF 22

A) FF 0
B) st A3
C) fabrafy
D) 3y F&« a0

Answer: B) s 31
Explanation: ST a3 578 (V0TS 9o o wasitaea [Aq1s 57T oo | 93 A0 oIt 8 51 A

(6@ a2 9T (v el YF (I, I ATTEF HF ol 5=7a, 93 I sfesrer P} Fawe NE 3
SO (0 Sfefw31 58 Fa0© M| 97 (F19 ©F (@2

87. Question: JEF AHE 8 TNH Se[~Te-



A) v

B) T ¥ ¢
C) />
D) 33/9

Answer: B) T ¢

Explanation: 308 & 21r 93 J@a 9 2r .*. AR - F5 = 21w 2 2r = 2100/ 2r = /1 = 22/7

88. Question: B (P 1% FAE O] CTA] INF T (FF?

A) 517 (I ST (% ©1
B) 51t (F1 *TIfeY (312 ©1%
C) bt NFHerSifoe a9 RN NS o© THT ACTH F7 ©1R
D) BIt7 IS (72 B1R

Answer: C) 5iid NTFerSiae g8 JIT TP g9 ACHT F7 ©12

Explanation: 5107 NS (72 ©1R (F1 191 ST ©f CTIAT I N1 <151 [ M IS 20
a1l 83 : fRfAfy

89. Question: ATIF e TA1XS 23~

A) TIFCIER (Bod @

B) fraa (ewd fu@

C) WA (@oF v

D) &31F (Sod o

Answer: B) 1@ (sod fn@

Explanation: 33T @@ REHEF HE (MR (26-I6 N &FAI(0 & SACE Jol J31Re 27| A
NG WPH® qT oIS | &fAT 92 HifS 93 EHE NS I

90. Question: TP (FT A6 T T 7 (AN N T 2

A) BT fof srepe fox
B) =¥ 18 TGT
C) o b TGT
D) =1 SR HGI



Answer: C) T b FG1

Explanation: Sus 452 SIS Sfefve (31 (AR 3 21T SI61 3| TP (F1 956 I 956
(ORTET AT b T67 S S 5 161 7| TAFE (P AF(6 I 7 7= b (ST I 96 SIoTF MY
FIIYTA T SR TG O B

91. Question: fAFI® FEG TATF AT (FALT SEF TAT (JETG?

A) x08%
B) asR
C)8v
D) vo38

Answer: B) @SR

Explanation: ef 5117 S5 S 7] fAETE 2| 976 ST ST [T So38 SATMG FJefsf |
V(5038) = 03 JEAR Ho38 AT TIEF M fAETE A @ | A%, box8 A7 TIEF M foyely HfFz
5038 =5 X 5038 =3 X 52 = 8 X Y = X 53% = b\ X b8 = v X 03 .". Y038 9T IS AT =
5, %, 8, B, b, 03, b8, M3, XQY, €S2 AT, Hox8 =55 fh

92. Question: (F1F AR TATF S @ (TS FACT (T 38,90 3 8% TET T8 2(F?

A) &>

B) S90

C)38%

D) 585

Answer: C) 8%

Explanation: 38, 94 A% 8% A9 «. HI. 8 = 488 .". ﬁzﬁﬁﬁémm= Y88 - @ = 48%

93. Question: ¢oo BIFIF 8 TREF 1 42 Yoo BIFF ¢ IREF W IFW ¢oo BIFT T [ T Fo?

A) %
B) L%
C) X%
D) 0%

Answer: C) %x%

Explanation: ¢oo GIFTF 8 IRET 51 = 2000 BIFT b T S0 A Yoo BIFIF ¢ IRET 50 =



w000 BIFIF S IRET M .". (Rooo + Wo00) = Qooo BIT1; Gooo BIFIF S JREF W = Qoo T .
Soo BIFTF b TREF 31 = (¢00%500)/¢000 = $0%

94. Question: 72 & AF F18 9F@ v [ FA© NE| T FF AFTH FT6 S} I FA© TH|
ol TfE 97! FSM F© I Fawe NHE?

A) 2o fug
B) xx fud
C) 3y fusy
D) 28 fae

Answer: B) 33 fae

Explanation: 72 T5f& 130 b e $200 *ME IS0 b 9 2 5@ & e Fa00 ME" Ff6a o/
DT FNH T3S S T FE S/5% T FT8 JOAR, 3T I5E S T FE (S5 - /5) T = (10- 3)/38 TR
= S/38 T YT & /38 AT IS FE S UG | 3T FE S 3T (o) FT8 FE S x (38/5) oy = 38
o

95. Question: A& (MFTAUIF 4(5/3)% Ffor® 936 535 THT Fae| IM GHHT FIAT 0% F
7© AR [TFTT ©) 5T (T 28, ORE OF 20% TS (O] | GO FIT F67?

A) Soo BIT
B) 8oo BIT
C) woo (ORI
D) x00 B3]

Answer: B) 8oo G1&T

Explanation: yfF, PF Y = X GBI 9.¢% Wﬁﬁ?ﬁw = DR.ax / Soo BT S0% FE(
GRIBF TS = Dox / Soo BIPT TIFET dox / Soo (A 0% NS RFIA = (dox / Soo) x (S30/500)
= 50X/ Y00 .. (SoX /[ 500) - ( DR.AX/ Soo) = S TT, (borX - DR.AX)/Soo = 0N T, $¢.&X / Soo =
S 1, X = (V5% $00)/5¢.¢ = Y00 BIBT

96. Question: a+b+c=9,a2+ b2+ c2=29 3T ab + bc + ca A7 A« F9?
A) 52
B) 46
C) 22
D) 26

Answer: B) 46



Explanation: (WIT 3T, a + b + ¢ = 9 a2+ b2 + c2 =29 ANAT I (a + b + ¢)2 = a2 + b2+ c2 +
2(ab + bc+ca)2(ab+bc+ca)=(a+b+c)2-(a2+ b2+ c2)2(ab + bc + ca) =92 - 29 2(ab + bc
+ca)=52." (ab+ bc +ca) =26

97. Question: (a2 + b2- c2 + 2ab)/(a2 - b2 + c2 + 2ac) = F97?
A)a+b+c

B)(a+b-c)(a+b+c)

C)(a-b+c)(a+b-c)

D)(a+b-c)(a-b+c)

Answer: A)a+b+c

Explanation: (a2 + b2 - ¢c2 + 2ab)/( a2 - b2 + c2 + 2ac) = [(a + b)2 - c2]/[(a + c)2-b2] = [(a+ b +
c)(@+b-c)/[(a+b+c)(a-b+c)]=(a+b-c)(a-b+c)
98. Question: a:b=4:79Rb:c=5:63Ta:b:c=39?
A)4:7:6

B)20:35:24

C)24:35:30

D)20:35:42

Answer: B) 20:35: 24

Explanation: a:b=4:7=20:35[58I873E] b:c=5:6=35:42[79I87FE] .. a:b:
c=20:35:42

99. Question: 6 AQER M&T (FTF SAWASEN ST 2377 w3 fags 7o T 713 2 AME?

A) R AR 3 IWGS (I
B) @ (F17 8 9% IR
C) fed a1=

D) fe= (1t

Answer: A) 12 I12 3 IFGE (1

Explanation: 736 fag@a faft (1 I sone 23 fagsr 136 W35 718 7@ & | foaf6 (@ er
S R ©IE ST (@11 fags 371 535 fags 2(e 2 A1 fediod (T@e a376 &y @ 3&|



100. Question: ) FRYER SR (FIEF AN S : X 1 X 1 © X[, JAN (IR AT 3=

A) oo fofar
B) ssa
C) 2x¢ fofar
D) sec fBfer

Answer: C) 3¢ f&f3r

Explanation: 5Q9EE BIF (FTEF B = ©bo° BIF (FNEAF TG = 5 1 X 1 X 1 © IPISSEN TS =
S+3I+33+9 =" 3N (P = (Yo AF /)’ = vbol°



